Limits Review

ﬂLimit of a constant is a constant.
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Direct Substitution — ALWAYS try direct substitution first!
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If substitution resuits in % , Factor, reduce, and substitute again. ?
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Multiply by the conjugate. 1/;
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Rewvrite the absolute value. ide i ive wh
Reminder, if the inside is positive when you substitute in use the positive of the inside, if the inside is negative why
Yyou substitute in use the negative of the inside.
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One sided limits when you get i do you get  or -0 ? Reason it out!
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Limits to infinity. You can do a behaves like only in limits to infinity. You can also divide by the highest
power in the denominator, simplify, and then take the limit.

lim (polynomial) The highest power contrcls fhe behavior!
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lim Eleesee = ratio of the leading coefficients
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lim involving sq :
- & Square roots : Use the behaves like method and remember that \/;7 = ,xl !
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Write the equations of all vertical and horizontal asymptotes.
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Continuity: Limit from right = limit from left = value of f(x) at the point.

Is f(x) continuous? Why?
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Intermediate Value Theorem.
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42. Verify the conditions of the Intermediatc Value Theorsm, and find ¢ guz guaranteed by the theorem
when f(x)=x’—6x+7 over the interval [0,3] and ffe) =-1.
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Finding values that make a function continuous.

43. Find the value of a that would make the function continuous.
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44. Find the value of m and » that would make the function continuous. (
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